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NEB.: (1) Question no. 1 is compulsory

(2) Awempt any three questions from the remaining five questions.
(3) Make assumptions wherever necessary and state them

I Explain the following (Any four) _ R -
" (a) Circuitswitching \.?_
(b) Different types of Ethernet 5
{(¢) Structure of IPV4 e

(d) Basic structure of HL7 message e

(e) Network Attached Storage

2.(a) Given: '
Number of needed subnets; 1000
Number of needed usable hosts: 60
Network Address: 165.100.0.0 i~
Find (i) Custom subnetmask
(ii) Total number of subnets v
(iii) Total number of host addresses we
(iv) Number ofusable addresses o
(v} Number of bits borrowed Hg:—\_"h
(b} With example explain classless and clai full addressing .
- (G -~
3- () With suitable example explain RS algorithm
() Explain TCP/IP Model in detat,”

4. (2) Drawalsbeled diagram qﬁd::xp!ain the components of PACS.

(&) Withaneat diagramé;:rv_cpfain the integration of information between HIS/RIS/PACS

N

3 (&) Explain the DICEM data communication mode]
& (H}T:Dcscﬁbc th:_:%’_iﬁent Information Reconciliation (PIR) workflow
it “,
8 White short gites on (Any 4)
252 Substitution Cipher
o (X Supemetting
e LANTepoIogics
= d) HIPps
). web-based PACS model
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